- N0), 2N

Negative Exponents of 10 (Power of 10)

Name:

-3 x10° =

6% 10% =

103 =

6x 107 =
546 + 100 =
484.8 x 1003 =
100D =

1003 =

9x10% =

103 =

Date: Score:

1009 =
100D =

1% 100 =
1003 =

100D =
—1x10* =
602.7 + 107" =
2843+ 107 =
100D =

1009 =
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- N0), 2N

Negative Exponents of 10 (Power of 10)

Name:

-3 x 10" =-3

6 x 10% = 600

107 = 0.001

6 x 107% = 0.0006
546 + 107 = 546000
484.8 x 107 = 0.4848
1077 = 0.1

107 = 0.001

9 x 10% = 900

1072 = 0.001

Date: Score:

107 = 0.0001

1077 = 0.1

~1x 107 = -0.001
107 = 0.001

1077 = 0.1

—1x 10> =-100

602.7 + 107 = 6027
284.3 + 1077 = 284300
1077 =0.1

10°% = 0.0001
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